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TOTAL | JiEfZ | TOTAL | NET TOTAL | JIBfZ | TOTAL | NET
KHEEK FHE
395 1 396 4 13648 2
, K £ OUT | IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL |HDCP| NET
® @B = # 40 | 37 77 *| 48 |72.2 B OH 36 | 38 74 *| 1.2 |728*
E H E L+ I 41 | 37 78 *| 48 |73.2 E 3 kR — BB 36 | 40 76 *| 24 |736%
e g B 39 | 40 79 *| 36 |754 X B £ B 37 | 40 77 *| 60 |710%
fle R IE = 40 | 39 | 79*| 84 |706 = B # = 43 | 41 | 84 *| 108 |732*
w o= = 41 | 41 82 *| 36 784 X B B B i1 | 44 85 *| 10.8 |74.2*
% W 1 43 | 42 85 | 12.0 |73.0 £ O B &b 47 | 43 90 | 10.8 |79.2
TOTAL | JiEfZ | TOTAL | NET TOTAL | JiEfL | TOTAL| NET
T4 HMEEER
395 2 358 5 13720, 4
K 4 OUT| IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
w B R M 37 | 39 76 *| 24 736 A R X 37 | 38 75 *| +1.2 |76.2%
57 E E §# 39 | 38 77 *| 24 (748 ft [ i 41 | 37 78 *| 6.0 |720*
B OE OB OB 40 | 40 80 *| 24 |776 B 2 40 | 41 81 *| 48 |762%*
X ZF= ¥ = 41 | 40 81 *| 3.6 |774 % H - 40 | 42 82 *| 84 |736F
#H B E A X 42 | 39 81 *| 48 |762 B O # 42 | 40 82 *| 48 |71.2
=T = I 43 | 53 96 | 19.2 1768 w X F 7 42 | 44 86 | 120 |740%
TOTAL | JiEfsf | TOTAL | NET TOTAL | JIEfT | TOTAL | NET
R F1 )11 17 ] )
386 3 399 6 (3774, 12
K 4 OUT | IN |TOTAL|HDCP| NET K & OUT | IN |TOTAL |HDCP| NET
% K B £ 37 | 39 76 *| 3.6 |724 £ oy E OB 36 | 38 74* 0 |740%
= B B x 38 | 41 79 *| 3.6 |754 X E B B 42 | 37 79 *| 36 [754%
X = B 37 | 42 79 *| 36 |754 =5 A 2k 39 | 42 81 *| 24 |788
mo B om B 40 | 40 80 *| 72 |728 72 H# — B 40 | 41 1% 48 |752*
A ¥ 43 | 39 82 *| 72 748 fifl BE ih 38 | 46 84 *| 6.0 |780*
O OH O OFZ 11 42 | 41 83 7.2 |75.8 EoWm JT 44 | 43 87 | 13.2 |738%
|
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TOTAL | JE{SL | TOTAL | NET TOTAL | JMEfI | TOTAL| NET
BEBLL EAR .
401 7 13636, 1 412 10 3748 9
K 4 OUT | IN |TOTAL |HDCP| NET K % OUT| IN [TOTAL|HDCP| NET
B F B RO 39 | 38 77 *| 12 |758* A & 39 | 39 78 *| 3.6 |744%
X B H - 37 | 41 78 *| 48 |732% M B ¥ @ 42 | 37 79 *| 48 |742%
b 1| % 40 | 40 80 *| 96 |704%* 2 B = % 38 | 45 83 *| 96 |734%
2 B B - 42 | 4 83 *| 96 |734% E 3 F KR 40 | 44 84 *| 7.2 |768%*
£ & B 1T 42 | 41 83 *| 6.0 [77.0 BOXK pi:3 45 | 43 88 *| 120 [760*
5 % B # = 39 | 45 84 | 132 |708* ES B % 40 | 48 88 | 10.8 |77.2
TOTAL | JiEfL | TOTAL | NET TCTAL | JIE#X | TOTAL | NET
wmAR *&5
405 8 (3726 6 412 11 3724 5
K % OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL |[HDCP| NET
X B B % 39 | 39 78 *| 48 [732*% nm B # = 39 | 41 80 *| 48 |752*
E B B = 37 | 42 79 *| 48 |742% OB X BR - 40 | 40 80 *| 60 |74.0%
W X B 37 | 43 80 *| 7.2 |728% M & — M 38 | 44 82 *| 7.2 |748*
E H 7 40 | 41 81 *| 6.0 |750* = B X 17 40 | 43 83 *| 84 |746*
wmoARx E = 41 | 46 87 *| 96 [7747F a S S S 43 | 44 87 *| 132 |73.8%
B O = B 42 | 47 89 | 10.8 |78.2 F A& B B 47 | M 88 | 10.8 |77.2
TOTAL | JEfZ | TOTAL | NET TOTAL | JlESZ | TOTAL | NET
=48R =<5
408 9 /369.0| 3 420 12 (3742 7
K & OUT | IN |TOTAL|HDCP| NET K 4 OUT | IN |TOTAL |HDCP| NET
T OB = 38 | 41 79 *| 72 |718% B OB OE 2 40 | 39 79 *| 60 |730%
x H O O#F 2 40 | 39 79 *| 36 |754% g BH = — 40 | 40 80 *| 6.0 |740*
2 OB N - 39 | 41 80 *| 60 |740% ' O#E =T X 39 | 44 83 *| 7.2 |758*
M A IE & 41 | 44 85 *| 9.6 |754 o & B 42 | 43 85 *| 96 |754*
R B = 43 | 42 85 *| 12.0 |73.0* 3 =1 47 | 46 93 *| 16.8 |76.2
% KX & = 43 | 45 88 | 13.2 |748% A5 B 5 46 | 48 94 | 18.0 |76.0%
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TOTAL | JIESL | TOTAL | NET
Bt
428 i3 1375.2 10
K 4 OUT | IN |TOTAL |HDCP| NET
oKX g 7 41 | 41 82 *| 72 |748%
/8 B B E 41 | 42 83 *| 84 |746*
N B — /K 42 | 42 84 *| 72 |768%*
& H & 49 | 40 89 *| 13.2 |758*
& R *® = 46 | 44 90 *| 13.2 |76.8
B B — 43 | 47 90 | 16.8 |73.2*
TOTAL | JlESL | TOTAL | NET
TH
429 14 3760 11
K % OUT | IN |TOTAL |HDCP| NET
hE B B 40 | 43 83 *| 60 |77.0%
& E B 42 | 42 84 *| 6.0 |78.0
2 B IE &A 45 | 40 85 *| 96 |754%*
' OE R K O 45 | 42 87 *| 96 |774%
® XK = 45 | 45 90 *| 19.2 |708%
X & B 2 43 | 48 91 | 156 |754*
TOTAL | JIEL | TOTAL | NET
FE
445 i5 (374.2| 8
K % OUT.| IN |TOTAL|HDCP| NET
X B - X 42 | 43 85 *| 10.8 |74.2*
oo B 41 | 44 85 *| 10.8 |74.2*
B Bnoon 46 | 44 | 90 *| 132 768~
K B8 - E 41 | 50 91 *| 18.0 |730*
n m] 0 46 | 48 94 *| 18.0 |76.0*
X 0 =1 46 | 51 97 | 14.4 826




